COMPLEX ANALYSIS



Any questions or concerns? Anything unclear?
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Suppose that f is holomorphic in a neighborhood of a point.

f(2) = 20 + f'(20)(z — 20)



f(2) = 20 + f'(20)(z — 20)



The definition of holomorphic in complex analysis 1is
essentially the same as the definition of derivative from
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If f(z) and g(z) are entire, then f(z)g(z) is entire.

True (confident)

True (not confident)
False (not confident)
False (confident)
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If f(z) and g(z) are entire, then f(z)/g(z) is entire.
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If f(z) and g(z) are entire, then if(z)-3g(z) is entire.
True (confident)

True (not confident)

False (not confident)
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If f(z) is entire, then f(1/z) 1is entire.
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If f(z) and g(z) are entire, then g(f(z)) is entire.

lA. True (conf'ident‘)\

B. True (not confident)
C. False (not confident)
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